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D-7033
M.Com. (III'Y Semester)

Examination, 2020
COMMERCE

(Advance Cost Accounting)
Time Allowed : Three Hours
Maximum Marks : 70

Minimum Pass Marks : 28

dic: A OR @UEl & T & IR HCIAR &l 3P @I
forTa et & wr fean o <@ &
Note : Attempt questions of all four sections as directed.
Distribution of marks is given with section.
Gus - A

(RIS we)
SECTION -A

(Objective Type Questions)
Me: iR w9 vt & W dfs) 90® g9 1 316

P N 10%1=10

D-7033 P.T.O.

Note :

Q. 1.

(2)

Answer all of the following questions. Each
question carries 1 mark.
@l W R

Fill in the blanks :

Direct wages are a part of the

overhead.

(i) Tel= "Uer & ugd ... F e HY

Machine hour rate method is the method of

absorption of
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3) (4)
(V) ... TG & W HIE B 3aeadhdl All the variable expenses are :
T & (a) Indirect expenses

(b) Direct expenses
The need of Reconciliation arises

(c) Distribution overhead
accounting system.
(d) Selling overhead

(v) A U H AN T gl il T T R e S R
In water supply, cost unitis . (31 a9 fawm gro
e IR g (§) Wfqama fowm gr

Choose correct answer : (W) @ma ogie favmr grr

, () TIPH DA TUMT gRT
vi) ¥t wRada g B &
Wage-sheet is prepared by :
(37) W g
(a) Pay Roll Department

() vt =g (b) Personnael Department

(@) faaor suRera (c) Costing Department

(@) fowa R (d) Time Keeping Department
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http://www.sggvonline.com



(5) (6)

(viii) 31 de1 THgilar &, deR (§) o R &
(1) IRy (|) 3T 0T
(§) SPrarar (7) IRB I
(&) fTagear Which of the following items is not included
(¥ W I T8 in cost account ?
Contract is a valid agreement between (a) Underwriters commission
contractor and : (b) Interest on capital
(@) Trader (c) Bad debts
(b) Contractee (d) All the above
(c) Seller (x) &cd o T8 # T T &
(d) None of these (31) wid o

(ix) F= 8§ ¥ P9-9 3ma gErieE @ #e faim (¥) wid &1 o=
ol 4 F8 s S g (W) wft o see
(31) sfradies @& FHRE (@ 3o § F &
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(7) (8)

In Hotel-lodge cost unit is : (i) Ode=y smeer @@ @ gRuT W Hifowl
(@) Per passenger Explain the concept of economic order
(b) Per room rent quantity.
(c) Per passenger food (iii) S 3TAd & YR HUGUS Fee|
(d) None of the above Give the important measurements of labour
s - § turnover.
SECTION -B (iv) T wver R H9 FefRa o smr €@
(e o7y I wE) How is machine hour rate determined ?
(Very Short Answer Type Questions) (V) 3IQEH-CRIT B TG T BT
die: foe g gel @1 W Al I0 " 6 2 3 Give a specimen of production account.
gl 5x2=10 (vi) SFR-VighaT @Y @ & ?
Note : Attempt any five questions. Each question carries 2 What is Inter-Process Profit ?
marks.

(vii) TATEE fdaRoT vd @& yRe™ sl
Q. 2. () ®Nd @Q@ied B BE-A gonferdi & ?

Prepare the proforma of reconciliation
What are the systems of cost accounting ? statement.
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(9)

{ug - ¥
SECTION -C

(e7g 3T )

(Short Answer Type Questions)

Ae: B yeT BRI TS T 4 3D B al  5x4=20

Note : Attempt any five questions. Each question carries

4 marks.

Q.3 ()

(i)

D-7033

TeT S U4 3MceT S § 3R adigel
Distinguish between direct labour and
indirect labour.

Rk w® IO 7 &° 36 oW
g7

What is perpetual inventory ? What are its

advantages ?

PITI ol

(i)

(iv)

v)

(vi)

(10)

TR VeTHG B WA X Ugid et

Explain Taylor differential piece work rate
method.

o B T & P g § B e shar
g7

What is work in progress ? How is it show in
Balance Sheet ?

yisar emra feRor dfd & R Sl
Define process costing method.

e B IR T Ol PG K e s el

Explain the advantages of standard costing.

(vi)) THeemTa fafer & uRwmar afowl

D-7033

Define uniform costing.
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AT: DS I I R TS T 10 3D BT 2

(11)

T ug - §

SECTION -D

(& 39 uz=)

(Long Answer Type Questions)

3x10=30

Note : Attempt any three questions. Each question carries

10 marks.

Q.3. () ©Nd oRaid da1 & ? 390 &9 d UM §aise!

(i) TP FFART 2018 H TP I FHIOH &g 3 fafdr
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What is cost accounting ? What is the scope

and its limitations ?

gl ¥ TeRaT &1 @NG yEe fHefeRad

T e AT &

PITI ol
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(12)

A

4
AR 3,000
ST 2,500
T T 500

B C

3 3
1,500 1,000
2,000 1,500
2,160 905

3afe $ e g 1,400 T ¥ B ulsar &

30 145 T & s TR C Uichar & 37399 166

TH U R IS Ufhar B e TN d

TAIUG 3AEA & A @ g2 ibar @

JorR @il

A product passes through 3 distinct process

to completion during January, 2018. The cost

books showthe following information :
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A B C

£ 4 £
Material 3,000 1,500 1,000
Labour 2500 2,000 1,500
Direct Exp. 500 2,160 905

The Indirect Expenses for the period were

3 1,400. The by-products of process B were

sold for ¥ 145. Residue of process C were sold

for ¥ 166. Prepare the process accounts

showing the cost of each process and the cost

of production of finished production.

(i) FEGRed g F o feamie @1 $d

D-7033

R feamer & oET BT

PITI ol
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(14)
S B P W= ;8
a9 H g & fad : 25
oid &9 gRT fem : 2
it @& Q@ 20 . e v R®
9 @ &Wal 80 AT
IT AT AT @R’ dd c &9aT & 90%
From the following information calculate total
km and total passenger km :
No. of Bus : 8
Days operated in the month : 25
Trip made by each Bus : 2
Distance of Route : 20 km for one side
Capacity of Bus : 80 passenger

Normal passengers travelling : 90% of capacity
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(15)
(iv) TN oiEied o o< o|ied & uRomm &
3R B BRUN B WK Do TH BII-D

e fdaRer U3 GaR - difowl

State the reasons for disagreement between
the costing and financial results. Prepare an

imaginary reconciliation statement.
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